
Mock test 
A. Translation E -> C 

 

1. void contract 

 a) neplatná smlouva 

 b) platná smlouva 

 c) výslovná smlouva 

 d) jednostranná smlouva 

 

2. tenant 

 a) pronajímatel 

 b) vlastník 

 c) nájemce 

 d) domácí 

 

B. Translation C -> E 

 

1. zaměstnanec 

 a) employ 

 b) employer 

 c) employee 

 d) employment 

 

2. zproštění viny 

 a) conviction 

 b) probation 

 c) bail 

 d) acquittal 

 

C. Grammar 

 

1. He __________ in Brno since 1980. 

 a) lived 

 b) has lived 

 c) is living 

 d) lives 

 

2. He was charged __________ murder. 

 a) of 

 b) from 

 c) with 

 d) in 

 

D. Reading  

 

1. Constitutional law is a branch of private law. 

True or False? 

 

2. Common law is based on __________ 

a) precedents 

b) statutes 

c) written laws 

d) Roman law 

 

Key A: 1a, 2c   B: 1c, 2d   C: 1b, 2c   D: 1 False, 2a 


